1200847 (K12n0847)

Linearized knot diagam

/\

N\ﬂﬁ) EENRN YT Yy

12\ P /
v. 1 Solving Sequence

: 1.5 —> — 4 — 2 > —> 8 —> 3 > - 7 — Co,C7,C
A knot diagran{] D209 >4 >2510 8>3 212 > 7 - 11> 62,07, €10

Ideals for irreducible component#ﬂ)f Xpar

I = (3u'® — 5u® — 28u® — 131u" — 313u8 — 576u° — 809u* — 779u® — 575u> + 58b — 246u — 70,
—35u® — 2220% + - - - 4 2324 — 556,
urt 4+ 6u'0 + 23u° 4 62u® + 128u” + 210u° + 269u” + 270u* 4 202u> 4 108u? + 44u + 8)
IY = (au +b, 8ula —3u® + - +28a — 18, u” + 4uS + 11u® + 20u* + 26u® + 250 + 14u + 4)
I} = (—a®u + 2a® — Ta*u + 5a® — 12au 4 6b — 9u — 9, a* — 2a°u + 3a® — 4a®u + 3a* — Tau + 2a — 2u + 1,
u? —u+1)
I =(—au+b—u, a*+a—2u+2, v> —u+1)
I = (u'? —ut 4+ 8u' — 8u” + 25u® — 24u"™ + 42u° — 36u° + 42u* — 31u® + 22u* + 2b — 13u + 5,
— 5u'® — 55u® + -+ 38a — 247, u'® + 110 + 51u!? 4 1346 + 2260 + 256uS + 191u? + 88u? + 19)
I = (a®u+ a® + a®u — 5a® — 6au + 3b + 3a + 6u + 3, a* + a®u — 3a® — 2a%u + 2a* + 2au + 20 —u — 1,
u? —u+1)

I ={—au+b+u—1,a*—au—2u+1, u* —u+1)
=0b-—u+l,a—1,u*—u+1)

Iy =b+u, atu, v> —u+1)

Ily=®b+u+1, atu, v +u+1)

IV ={(a, > +b+1, v+1)

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).
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* 11 irreducible components of dim¢ = 0, with total 73 representations.

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (3u'® — 5u° 4+ -.- 4+ 58b — 70, —35u'® — 2224 + ..

556, u'l + 6u'® + ... + 44u + 8)

(i) Arc colorings

o (0
)
)

a5 =
ag =
ag = \ —0.0517241u'® + 0.0862069u° + - - - + 4.24138u + 1.20690

0.314655u® + 1.51724u° + - - - + 9.94828u + 3.74138)

as = \0.370690u'° + 1.96552u° + - - - + 11.1034wu + 2.51724

0.193966u'? — 0.801724u? + - - - — 1.34483u + 0.775862)

ay = ( —0.620690u10 — 3.46552u° + - - - — 22.1034u — 4.51724

0.150862u1% + 0.706897u° + - - - + 4.87931u + 1.39655
0.698276u'0 + 2.58621u° + - - - + 12.2414u + 3.20690

0.150862u:1° + 0.956897u° + - - - + 6.37931u + 2.39655
—0.448276u'0 — 1.58621u° + - - - + 0.758621u + 0.793103

0.564655u'0 + 2.76724u° + - - - 4+ 11.4483u + 2.74138
0.620690u'0 + 3.46552u° + - - - + 32.1034u + 6.51724

us>

u +1
ut + 2u?
u + 2u
ann = \ud +3ud +u
(ii) Obstruction class = —1

(iii) Cusp Shapes =
S 55,10 162, 9 1217 8 1588,7 3216, 6 5073, 5 12583 4 5972, 3
53U 29 U 58 U 29 U 29 U 29 U 58 U 29

0.150862u:'° + 0.956897u” + - - - + 6.37931u + 2.39655 >

_ 4159, 2
29

« 4+ 232a —

2124

702

29

29



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 utt —5ut 45U+ T
€2, €4, C8 ut 4+ 0wl 4+ 6u” + 4u® + 140" 4+ 408 + 8u® — 5u® — 3P +u+1
C10
c3,Cy wtt =20+ — 9y 24
C5,Ce,C11 u11—|—6u10—|—--~+44u+8
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 ytt 4+ 5y0 4 — 31y —49
C9,Cy4,C8 y11+11y10_~_.._+7y_1
€10
3, Cy ytt — 22910 4 ... 4 4305y — 576
C5,Ce,C11 yll +10y10+~-~+208y—64
C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.077559 4 0.7048371
a= 0.121802 — 0.8083147
b= —0.560282 — 0.1485421

0.79523 4 1.673741

1.92464 — 5.478471

u = —0.077559 — 0.7048371
0.121802 + 0.8083141
b = —0.560282 + 0.1485421

a =

0.79523 — 1.673741

1.92464 + 5.478471

u = —1.377920 4 0.1016371
a = —0.324451 + 1.1354901
b= —0.33166 + 1.597591

—11.42710 — 8.155111

—7.08884 + 4.548391

u = —1.377920 — 0.1016371
a = —0.324451 — 1.1354901
b= —0.33166 — 1.597591

—11.42710 4 8.155111

—7.08884 — 4.548391

u = —0.72850 + 1.423891
a = —0.649822 + 0.8939271

—7.3754 + 15.45511

—4.41387 — 7.808801

b= 0.79946 4 1.576501
u = —0.72850 — 1.423891
a = —0.649822 — 0.8939271 | —7.3754 — 15.45511 | —4.41387 + 7.808801
b= 10.79946 — 1.576501
= —0.361176
a= 144545 —1.26726 —9.58390
b= 0.522063

u = 0.08198 + 1.708971
a = —0.264638 + 0.2593151
b= 0.464855 + 0.4309991

9.26814 + 1.072241

1.58191 — 6.792601

u = 0.08198 — 1.708971
a = —0.264638 — 0.2593151
b= 0.464855 — 0.4309991

9.26814 — 1.072241

1.58191 + 6.792601

u = —0.71742 + 1.602141
a= 0.644383 — 0.3718121
b= —0.133405 — 1.2991401

—6.25408 — 0.694801

—6.21186 + 0.797241




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.71742 — 1.602141
a= 0.644383 + 0.3718121
b= —0.133405 + 1.2991401

—6.25408 + 0.694801

—6.21186 — 0.797241




II. I¥ = (au + b, 8uba — 3u® +-.- + 28a — 18, u” + 4u’ + --- + 14u + 4)

(i) Arc colorings

o= (1)

1
as = 0
1
ag = U2
a
ag = \ —au
—%UGCL —2uPa+--- —4da+ g
ay = —ub — b+ 2a — 3u
1,6 3,5 3
_§u_§u +..._a_§
az= \lub4+u’+ - —au+ 3u
—tuba4+tub+. 2y 2
a0 =\ —ula—3ula+---—2a—1
a
as = \u?a — au
%u5+u4+- a—&—%
a3 = \—w’a— uS+ - —au— 3u
U
a2 = \y3 +u
u? +1
a7 = \u? + 2u2
ud + 2u
ay;n = \ud +3ud +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —u% — 3u® — 11u* — 21u® — 30u® — 28u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 ut —8uB . —21u+3
€2, ¢4, C8 w4+ 8ul? o —3u41
€10
c3, Co (u” +ub —2u® — 2u* —u? — 3u? —1)?
€5, ¢, €11 (u” + 4u8 + 110 4 20u* + 26u® + 25u? + 14u + 4)?
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 y14+2y13+-~-—33y+9
C9,Cy4,C8 y14+16y13+~-~—3y+1
C10
c3,Co (y" —5y° +6y° + 6y* — 9y° — 13y* — 6y — 1)*
C5,C6,C11 7 6 5 3 2 2
(y" + 6y° + 13y° — 48y° — 57y* — 4y — 16)
C12
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.532984 + 0.4641091
a= 0.595528 — 0.2135651
b= 0.218289 — 0.3902171

—0.57333 4 1.841261

—2.97768 — 3.500981

u = —0.532984 + 0.4641091
0.58819 — 1.429151
b= —0.349784 — 1.0347001

—0.57333 4 1.841261

—2.97768 — 3.500981

u = —0.532984 — 0.4641091
a= 0.595528 + 0.2135651
b= 0.218289 + 0.3902171

—0.57333 — 1.841261

—2.97768 + 3.500981

u = —0.532984 — 0.4641091
= 0.58819 + 1.429151
—0.349784 4 1.0347001

—0.57333 — 1.841261

—2.97768 + 3.500981

—1.33180
0.228400 + 1.2129101
0.30418 + 1.615361

—12.0300

—17.93040

—1.33180
= 0.228400 — 1.2129107
= 0.30418 — 1.615361

—12.0300

—7.93040

= —0.11506 + 1.494227]
= —0.755700 + 0.5870681
0.79026 + 1.196731

5.82905 + 4.077871

5.41510 4 4.516471

—0.11506 + 1.494221
—0.095547 — 0.2217151
—0.342285 4 0.1172571

5.82905 + 4.077871

5.41510 4 4.516471

—0.11506 — 1.494221
= —0.755700 — 0.5870681
0.79026 — 1.196731

5.82905 — 4.077871

5.41510 — 4.516471

= —0.11506 — 1.494227]
= —0.095547 + 0.2217151
= —0.342285 — 0.1172571

5.82905 — 4.077871

5.41510 — 4.516471
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.68606 + 1.485511
0.668554 — 0.8205721
—0.76030 — 1.556101

—7.46541 + 7.102421

—5.97220 — 3.891991

—0.68606 + 1.485511
= —0.729428 + 0.4308751
0.139642 + 1.3791801

—7.46541 + 7.102421

—5.97220 — 3.891991

—0.68606 — 1.485511
0.668554 + 0.8205721
—0.76030 4 1.556101

—7.46541 — 7.102421

—5.97220 + 3.891991

U
a
b
U
a
b
U
a
b
U
a
b

—0.68606 — 1.485511
—0.729428 — 0.4308751
0.139642 — 1.3791801

—7.46541 — 7.102421

—5.97220 + 3.891991
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III1.
I} = (—a*u—T7a’u+---+5a%? -9, —2a%u —4a?u+---+2a+1, v? —u+1)

(i) Arc colorings

o ()

a5 =
ag —

a
ag = 1.3 742 .. 5,2 3>
9 6au+6au+ ga —|—2

l(13u+%aQquwdraJrl
§a3u+4a2u+~~fa+%
la?’u—&—%agu—i—-~-—%ULQ—
—%a3u—a2u+~-~—a—%

aq =

[=2]

3

%agu+%a2u+~~féa2+l
—d*u—ad*u—2a®+au—3a+u—2

u

u— 2
2u—1
-2

(ii) Obstruction class = —1

a1l =

Q
s
S |
I
TN TN N N N T N T N T N, N T N T N
[SCISN
Q
(o8]
I~
+
S~
Q
[\
I3
+
+
=~
Q
+
=~

(iii) Cusp Shapes = 12u — 18
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,c7 (u* +u® — 2u +1)?
€2,C4, 8 u® + 5u” + 1208 + 200 + 28u” + 33u® + 36u? + 6u + 3
€10
s, Cy (u* + 2u® — 3u? — 4u + 7)?
Cs5,Ce, C11 (u2 —u+ 1)4
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
ciser (y' —y° +6y* — 4y + 1)?
€2, €4, C8 y® — o + 14y° + 274y + 759¢° + 1068y> + 180y + 9
C10
3, Cy (y* — 10y° + 39y% — 58y + 49)2
C5,C6,C11 (y2+y+1)4
C12

15



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.500000 + 0.8660251
= —0.91531 — 1.096881
0.87030 — 1.528851

—3.28987 — 6.089651

—12.0000 + 10.39231

0.500000 + 0.8660251
—0.293656 — 0.1092161
2.06972 + 0.744831

—3.28987 — 6.089651

—12.0000 4+ 10.39231

0.500000 + 0.8660251
0.88888 + 1.518131
—0.49226 + 1.341121

—3.28987 — 6.089651

—12.0000 + 10.39231

0.500000 + 0.8660251
—1.67991 + 1.420011
0.052244 + 0.3089221

—3.28987 — 6.089651

—12.0000 4 10.39231

0.500000 — 0.8660251
—0.91531 + 1.096881
0.87030 + 1.528851

—3.28987 + 6.089651

—12.0000 — 10.39231

0.500000 — 0.8660251
= —0.293656 + 0.1092161
2.06972 — 0.744831

—3.28987 + 6.089651

—12.0000 — 10.39231

0.500000 — 0.8660251
0.88888 — 1.518131
—0.49226 — 1.341121

—3.28987 + 6.089651

—12.0000 — 10.39231

0.500000 — 0.8660251
—1.67991 — 1.420017
= 0.052244 — 0.3089221

> 2 €|l & €| & 8|l & €| & €| & €| & &8> & &

—3.28987 + 6.089651

—12.0000 — 10.39231
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IV.I} =(—au+b—u, a®>+a—2u+2, u> —u+1)

(i) Arc colorings

o= (1)

1
as = 0
1
s = \u—1
a
a9 = \au+u
-1
a4 = \au—a—u—1
—U
2= \—-a—u+1
—au+a—1
a0 = \au+a —2u + 2
a
ag = \2au—a—+u
—au+a—2u+1
as = au + 2
U
a2 = \u—1
u
a7 = \y—2

(ii) Obstruction class = —1

(iii) Cusp Shapes = 12u —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,c7 (u? +u+1)2
2,64, 68 u' +u® 4 3u® + du+4
€10
c3,Cy u* +3u® —6u+3
Cs5,Ce, C11 (u2 —u+ 1)2
C12

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs,Ce (y2+y+1)2
C7,C11, C12
C2,C4,Cs8 y4+5y3+9y2+8y+16
€10
c3, Cg y* + 6y + 15y% — 18y + 9

19



(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/=1C8S) Cusp shape
uw = 0.500000 + 0.8660251
a= 0.254141 + 1.1483601 — 6.089651 0. 4 10.392301
b= —0.36744 4+ 1.660307
uw = 0.500000 + 0.8660251
a = —1.25414 — 1.148361 — 6.089651 0. 4 10.392301
b= 0.867438 —0.7942731
uw = 0.500000 — 0.8660251
a= 0.254141 — 1.1483601 6.089651 0. —10.392301
b= —0.36744 — 1.660307
u = 0.500000 — 0.8660251
a = —1.25414 4+ 1.148361 6.089651 0. —10.392301

b= 0.867438 + 0.7942731

20



V. I} = (u?—ur+..-4+2b+5, —5u'® — 55u’® + ... 4 38a — 247, u'® +
11u'® + .- 4 88u? + 19)

(i) Arc colorings

o ()

1
as = 0
1
a6 = u2
0.131579u' + 1.44737u'3 + - - - + 0.578947v + 6.50000
ag = —%u12+%u11+-~-+1—23u—g
—0.0789474u" — 0.368421u'3 + - - - + 6.55263u + 6.50000
a4 = %u14+%u13+~~+1—21u+%
—0.131579u'® — 0.947368u' + - - - + 8.42105u + 9
ag = %u15+u14+---+%u+%
S Ly 9% 119
= 381 15 21 14 ]79 3
@10 gu”tgut et gu—g
0.131579u® + 1.44737u'® + - - + 0.578947u + 6.50000
asg = —%ulg—%u11+'~-—|—4u—g
—0.131579u® + 0.500000u + - - - + 14.9211u + 11.5000
as = u15+%u14+---+22—3u—7
u
a2 = \ud+u
w2 +1
ar = \ut + 202

(ii) Obstruction class =1

(iii) Cusp Shapes = —6u!? — 56u'? — 216u'" — 468u® — 639uS — 555ut — 288u? — 73
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 wb — 7+ ut1
€2, ¢4, C8 u® —u® 4 —3u 1
C10
c3, Co (u® — 4u® + 6u* + 3u® — 2u? — 4u —1)?
€5, C6, C11 u® 4+ 110 + 5102 + 13400 + 226u® + 256u° + 191u* + 88u? + 19
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 gl Ty 11y 41
C9,Cy4,C8 y16+7y15+_._+9y+1
€10
€3, Co (y® — 8y” + 28¢5 — 52¢° + 50y* — 25¢% + 16y% — 12y + 1)?
5, €6, 11 (% + 11y7 + 51y° + 134y° + 226y* + 256y° + 191y + 88y + 19)?
C12
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Solutions to I¢

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.450136 + 0.8964651
0.94613 + 1.228061
= —0.67503 + 1.40096.1

—2.63935 — 5.659171

—1.08017 + 3.202731

= 0.450136 — 0.8964651
= 0.94613 — 1.228061
= —0.67503 — 1.400961

—2.63935 4 5.659171

—1.08017 — 3.202731

= —0.450136 + 0.8964651
= —0.841491 — 0.7137761
= 1.018660 — 0.4330711

—2.63935 + 5.659171

—1.08017 — 3.202731

= —0.450136 — 0.8964651
= —0.841491 + 0.7137761
1.018660 + 0.4330711

—2.63935 — 5.659171

—1.08017 + 3.202731

= 0.539427 + 0.9867111
0.988608 + 0.4895091
0.050278 + 1.2395301

—2.28512 + 1.911341

—2.25611 — 2.126021

0.539427 — 0.9867111
= 0.988608 — 0.4895091
= 0.050278 — 1.2395301

—2.28512 — 1.911341

—2.25611 + 2.126021

= —0.539427 4+ 0.9867111
0.628905 + 0.6293081
= —0.960194 + 0.2810821

—2.28512 — 1.911341

—2.25611 + 2.126021

—0.539427 — 0.9867111
0.628905 — 0.6293081
—0.960194 — 0.2810821

—2.28512 + 1.911341

—2.25611 — 2.126021

0.8463881

= 1.181140 + 0.3325981 | —1.93059 —6.07620
= —0.281507 4 0.9997021
= — 0.8463881
= 1.181140 — 0.3325981 | —1.93059 —6.07620

> Q& €|l & €| & €| Q& €| 8 €| Q@ 8| 8 €|l & €|l & €| & &
I

= —0.281507 — 0.9997021
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Solutions to I¢

V=1 (vol + v/=1C)

Cusp shape

u = 0.04760 + 1.503141
a = —0.799076 — 0.5694321
b= 0.81790 — 1.228231

5.58575 — 4.393161

—7.09441 4 10.909711

u = 0.04760 — 1.503141
a = —0.799076 + 0.5694321
b= 0.81790 4 1.228231

5.58575 4 4.393161

—7.09441 — 10.909711

u = —0.04760 + 1.503141
a= 0.247325 — 0.1465931
b= 0.208575 + 0.3787431

5.58575 4 4.393161

—7.09441 — 10.909711

u = —0.04760 — 1.503141
a= 0.247325 + 0.1465931
b= 0.208575 — 0.3787431

5.58575 — 4.393161

—7.09441 4 10.909711

U= 1.789421

a = —0.351537 — 0.1795651 8.83269 —4.06250
b= 0.321316 — 0.6290471

U= — 1.789421

a = —0.351537 + 0.1795651 8.83269 —4.06250

b= 0.321316 + 0.6290471
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VL I} = (a®u+a*u+---+3a+3, a®>u—2a%u+---+2a—1, u* —u+1)

(i) Arc colorings

o= (1)

1
as = 0
1
e = \u—1
a
ag = —%a3u—%a2u+~-~—a—1
—%a3u+§a2u—|—---—a+1
a1 = \a3u—+a® — 4a® — 3au + 3a + bu
—%asu—%a2u+~--+%a2—a
az = —adu+2dPu+a>—a—u—1
au—au—a+1
aio = —§a3u+%a2u+~-~—%a2+2a
a
asg = —%a3u—%a2u+--~—2a—l
—§a3u+%a2u+---—2a+2
a3 = \ a®+ 2a%u — 2a® — 2au + 2u — 1
U
a2 = \u—1
U
a7 = \y—2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u — 10
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1, 7 (u* +u® —2u+1)2
€2,C4, 8 u® — 44" + 9ub — 16u° + 22u* — 18u® + 18u* — 6u + 3
C10
c3, Co (u* —u® — 3u? + 2u + 4)*
Cs5,Ce, C11 (u2 —u+ 1)4
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1ycr (y' —y° +6y* — 4y + 1)?
€2, €4, C8 y® + 247 — 3y° + 324° + 190y* + 330y° + 240y + T2y + 9
C10
€3, Co (y* — Ty® + 21y% — 28y + 16)?
C5,C6,C11 (y2+y+1)4
C12
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Solutions to I

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.500000 + 0.8660251
= —0.968092 — 0.4878781
= —0.08797 — 1.503591

—3.28987 + 2.029881

—12.00000 — 3.464101

= 0.500000 + 0.8660251
= 0.521310 + 0.1186641
= —1.81567 — 0.800001

—3.28987 + 2.029881

—12.00000 — 3.464101

= 0.500000 + 0.8660251
= 1.34613 4+ 0.675611
= 0.061531 + 1.0823301

—3.28987 + 2.029881

—12.00000 — 3.464101

= 0.500000 + 0.8660251
= 1.60065 — 1.172421
= —0.157889 — 0.5108001

—3.28987 + 2.029881

—12.00000 — 3.464101

= 0.500000 — 0.8660251
—0.968092 + 0.4878781
—0.08797 + 1.503591

—3.28987 — 2.029881

—12.00000 + 3.464101

0.500000 — 0.8660251
= 0.521310 — 0.1186641
= —1.81567 + 0.800001

—3.28987 — 2.029881

—12.00000 + 3.464101

= 0.500000 — 0.8660251
= 1.34613 — 0.675611
= 0.061531 — 1.0823301

—3.28987 — 2.029881

—12.00000 + 3.464101

= 0.500000 — 0.8660251
= 1.60065 + 1.172421
= —0.157889 + 0.5108001

—3.28987 — 2.029881

—12.00000 + 3.464101
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VIL. I¥ =(—au+b+u—1,a*> —au—2u+1, u* —u+1)

(i) Arc colorings
0
ay = u
as =
ag =
ag =
aq =

ag =

(
(
(
(
(
S (A
(
(
(
(

au—a+u—1
—au—u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u — 14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
4
Cc1,C7 (u =+ 1)
€2, €4, C8 ut +u® + 4u® 43
€10
c3, Co (u? +u+1)2
Cs5,Ce, C11 (u2 —u+ 1)2
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢7 (y—1)*
C2,C4,Cg y4+7y3+22y2+24y+9
C10
€3,Cs5,C6 (yQ +y+ 1)2
C9, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ VvV—1(vol + /—1CS) Cusp shape

0.500000 + 0.8660251
= —0.705919 — 0.5861931 | —3.28987 — 2.029881 | —12.00000 + 3.464101
= 0.65470 — 1.770471

= 0.500000 + 0.8660251
= 1.20592 4 1.452221 —3.28987 — 2.029881 | —12.00000 + 3.464101
= —0.154699 + 0.9044411

= —0.705919 + 0.5861931 | —3.28987 + 2.029881 | —12.00000 — 3.464101
= 0.65470 + 1.770471

= 0.500000 — 0.8660251
= 1.20592 — 1.45222] —3.28987 4-2.029881 | —12.00000 — 3.464101

U
a
b
U
a
b
uw = 0.500000 — 0.8660251
a
b
U
a
b= —0.154699 — 0.9044411

33



VIIL Iy =(b—u+1,a—1, u* —u+1)

(i) Arc colorings

o= (1)

o ()
o= (u11)
o= (1)
w= (1)
o= (u11)
oo=(ul1)
A
I
o= (")
o= (")

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
c1,C7 u”+u+1
C2,C4,C5
2
€65 €8, C10 um—u+tl
C11,C12
C3 2 _
U 3u—+3
Co U2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
Cs5,C6, CT1 y2+y+1
€8, €10, C11
C12
€3 y* —3y+9
Co y2
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol +/=1CS) Cusp shape
u = 0.500000 + 0.8660251
a = 1.00000 2.029881 0. —3.464101
b = —0.500000 + 0.8660257
u = 0.500000 — 0.8660251
a = 1.00000 — 2.029881 0.+ 3.464101

b = —0.500000 — 0.8660251
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IX. I¥=(b+u, at+u, u>) —u+1)

(i) Arc colorings

o= (1)

a5 =
ag =

ag =

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
c1,C7 u”+u+1
C2,C4,C5
2
€65 €8, C10 um—u+tl
C11,C12
c3 U2
Cg 2 _
U 3u—+3
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
Cs5,C6, CT1 y2+y+1
€8, €10, C11
C12
c3 y2
€ y* —3y+9
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ V—1(vol + /—1CS) Cusp shape
u = 0.500000 + 0.8660251
a = —0.500000 — 0.8660251 2.029881 0. —3.464107

b = —0.500000 — 0.8660251

u = 0.500000 — 0.8660251
a = —0.500000 + 0.8660251 — 2.029881 0.+ 3.464101
b = —0.500000 + 0.8660251
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X. Iy =((b+u+1, at+u, u>+u+1)

(i) Arc colorings
0
ay = u
a5 =
ag =
ag =

aq =

—U
aio = \—u—2
—u
ag = \—~u—2
1
a3 = \—-u-—1
u
a2 = \u—+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u — 2

42



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C7 u2
C2,C3,C4 u2_u+1
€8, C9, C10
Cs5,C6,C11 U2+U+1
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

2

C1,C7 Yy
C2,C3,C4

Cs,C6, C 2

55 C65 C8 4yl

C9, €10, C11
C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I V—1(vol + /—1CS) Cusp shape
u = —0.500000 + 0.8660251
a = 0.500000 — 0.8660251 2.029881 0. —3.464107

b = —0.500000 — 0.8660251

u = —0.500000 — 0.8660251
a = 0.500000 + 0.8660251 — 2.029881 0.+ 3.464101
b = —0.500000 + 0.8660251
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XL If ={a, b*4+b+1, v+ 1)

(i) Arc colorings

n= ()

(ii) Obstruction class =1

(iii) Cusp Shapes =8b+4
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(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C3,C7

Co

wou+1

C2,C4,Cg

C10

w4u+1

Cs5,Ce, C11

C12
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,C7,C8

€9, C10

y2+y+1

Cs5,Ce, C11

C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
v = —1.00000
a= 0 —4.059771 0.+ 6.928201
b = —0.500000 + 0.8660257
v = —1.00000
0 4.059771 0. —6.928201

b = —0.500000 — 0.8660251
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XII. u-Polynomials

Crossings u-Polynomials at each crossing

w?(u+1)4u? —u+ D(w? +u+ DA +u® — 20+ 1)?

1, c
b (M = 5ut 5+ T (M = 8ut = 21w+ 3)
(Wt =T w4 1)
(W —u+ 1) +u+ 1) +u® 4+ 4 du+4) (u* + o + 4u® +3)
€2 €4, 8 (u® = 40T + 9ub — 16u° 4 22u* — 18u® + 18u” — 6u + 3)
C10

(u® 4 5u” 4+ 12u° 4 20u® + 28u? + 33u® + 36u? + 6u + 3)
(w4t 4 6u® + 4u® + 1407 + 408 + 8u® — 5ud — 3ut +u+ 1)
Mt 8?4 = Bu4+ Dt —u® = 3u+1)

w?(u? = 3u+ 3)(u? —u+1)*(u? +u+ 1) (u* + 3u® — 6u + 3)
€3,C9 S(ut —u® = 3u? 4 2u+ 4) (ut + 20 — 3u? — du +T7)?
S(u” b =20 —2ut —ud - 3u? —1)?

((u® =4S o —du— D)) (W =20 - — 9u 4 24)

u2(u2 —u+ 1)14(u2 +u+1)

(U 4 4+ 110° 4 200t 4 2603 + 25u? + 14u + 4)?

S(utt 6ul - 440+ 8)

(w11 + 51ut? 4 134ut? 4 226u® + 256u° + 191u* + 88u? + 19)

Cs5,C6,C11

C12
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XIII. Riley Polynomials

Crossings Riley Polynomials at each crossing
oren V-D'+y+ 1)y P+ 67—y + 1)
Syt eyt =31y —49) (Y 2y - =33y +9)
STy e 1y + 1)
(1 +y+ D))" +5y° + -+ 8y +16)(y" + 7y’ + - + 24y +9)
C2;C4,C8 Sy —y7 + 14y° + 274y* + 759y° + 1068y + 180y + 9)
c1o0 (B 427 — 3% + 3297 + 190y* + 330y + 240y + T2y + 9)
Syt 1y Ty - D (Y 16y - =3y + 1)
WO+ Ty 4+ 9+ )
V(% =3y + 9@ +y + 1) (y* — 10y° + 39y% — 58y + 49)?
c3, Co Syt =Ty 4+ 21y% — 28y 4+ 16)2(y* + 613 + 15y — 18y + 9)
(y" — 5y +6y° + 6y* — 9y — 13y — 6y — 1)?
(y® — 8y + 28y — 5245 + 50y — 25y° + 16y% — 12y + 1)?
(y™ — 22y 4 -+ - + 4305y — 576)
e coey | VW Hy+ 1Py +6y° +13y° — 48y — 57y° — 4y — 16)°
c1s (y® + 11y7 4+ 51y° + 1344° + 226y* + 256y° + 191y + 88y + 19)2

(y" 4+ 10y" 4 -+ - + 208y — 64)
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